Romans 4:9



- is the transitional use of the postpositive conjunction OUN, which is used to resume the main event line after an interruption, such as a quotation.  The resumptive use of this conjunction can be translated “now” or “then.”  With this we have the nominative subject from the masculine singular article and noun MAKARISMOS, which means “the blessing.”  With this we have the nominative subject from the masculine singular demonstrative pronoun HOUTOS, which means “this.”  This is followed by the preposition EPI plus the accusative of relationship from the feminine singular article and noun PERITOMĒ, which means “for the benefit or advantage of the circumcision.”  The word “[only]” is implied by the contrast with the rest of what is said in the next clause.  There is an ellipsis of the verb EIMI, meaning “[Is],” which introduces a direct question.
“[Is] this blessing then for benefit of the circumcision [only]”
- is the coordinating conjunction Ē, meaning “or” plus the adjunctive use of the conjunction KAI, meaning “also.”  Then we have the preposition EPI plus the accusative of relationship from the feminine singular article and noun AKROBUSTIA, meaning “for the benefit or advantage of the uncircumcision?”
“or for the benefit of the uncircumcised also?”
- is the response use of the postpositive conjunction GAR.  “GAR can function as a narrative link that introduces an action in response to a previous utterance.  As such it continues the development of the plot line instead of shifting away from it or back to it.  It can also signal a reply in dialogue.  The translation ‘in reply’ is sufficient in such cases.”
  With this we have the first person plural present active indicative from the verb LEGW, meaning “we say, speak, respond, or reply.”

The present tense is a descriptive present, which describes what is currently said by Paul.

The active voice indicates that Paul and those with him produce the action.


The indicative mood is a simple statement of fact.

“In reply we say,”
 - is the third person singular aorist passive indicative from the verb LOGIZOMAI, which means “to be credited.”

The aorist tense is a constative or historical aorist, which states the past fact without reference to its progress.


The passive voice indicates that Abraham received the action.


The indicative mood is declarative for a dogmatic statement of doctrine.

This is followed by the dative of indirect object from the masculine singular article and proper noun ABRAAM, meaning “to Abraham.”  Then we have the nominative subject from the feminine singular article used as a personal pronoun and the noun PISTIS, used in its active meaning translated, “his faith.”  Finally, we have the preposition EIS plus the predicate accusative from the feminine singular noun DIKAIOSUNĒ, which means “as righteousness.”  “The predicate nominative and the predicate accusative are sometimes replaced by EIS with the accusative under Semitic influence.”
  A predicate accusative may be one member of a double accusative.  This expresses the idea of equivalence and can be translated with the word “as.”  The significance of this is that God equates faith in Christ as being equivalent to His very own righteousness.
“‘His faith was credited to Abraham as righteousness.’”
Rom 4:9 corrected translation
“[Is] this blessing then for the benefit of the circumcision [only] or for the benefit of the uncircumcised also?  In reply we say, ‘His faith was credited to Abraham as righteousness.’”
Explanation:
1.  “[Is] this blessing then for the circumcision [only]”

a.  Having quoted from the Old Testament as another proof that what Paul is teaching is true, he continues his discourse with another question.

b.  The “blessing” mentioned in this verse was explained in the previous verse as the happiness of the believer who realizes that God will never count his sinful status and personal sins against him.

c.  So Paul asks if this happiness was designed by God for only the Jew.  The answer is an obvious, “Of course not.”


d.  The Jews in their arrogance came to assume that because God had revealed Himself to them that they were to be the only beneficiaries of the blessing from God of redemption from sin.  They thought that God would only save them because they were the only people on earth worth saving.  They thought they were worth saving only because of all the sacrifices they made toward God day after day, month after month, and year after year.  They thought that they were the only ones worthy of salvation by God because of their good works, reception of the Law, and attempt to go beyond the Law in their adherence to their man-made rules and regulations.


e.  The Jews completely rejected the idea that a Gentile could even be saved because they were so completely depraved and so far from the righteousness of God.  The Jews felt they were so close to being righteous on their own merits that they had no need of a savior.  This was one of the reasons why they rejected the salvation message and offer of Jesus Christ during His first advent.

f.  The fact that the Jews had a difficult time accepting the salvation of the Gentiles is clearly seen in the lesson the Holy Spirit had to teach Peter at the beginning of the Church Age, Acts 10.
2.  “or for the benefit of the uncircumcised also?”

a.  Paul continues his question with the contrast—is the happiness of knowing that a person’s sins have been covered by God and will never be held against him not also a blessing for the Gentile believer?  Again the obvious answer is, “Yes, of course this blessing is for the Gentile” as we see in Acts 10.

b.  Acts 8:26-39 gives us a perfect illustration of how this blessing of happiness is for the Gentile also.

c.  The entire thrust of Paul’s ministry to the Gentiles was that this blessing was for the Gentiles also, Acts 11:20-26: 15:3, 14:1.
3.  “In reply we say, ‘His faith was credited to Abraham as righteousness.’”

a.  Paul answers his own question for his readers with the correct answer—the same answer he has constantly given to the Christian ‘Pharisees’ (that is, legalists).

b.  Paul goes right back to what God told Moses to write in the Torah, the sacred literature of the Pharisees, and quotes from Gen 15:6, which he began this argument with in verse 3.

c.  Paul’s argument is this:



(1)  Happiness belongs to whoever has had his sins forgiven and covered by the work of Christ.



(2)  This is proven by the statement of Scripture, “Happy is the man against whom the Lord will never count sin.”


(3)  This happiness and blessing is for both the Jew and the Gentile.



(4)  Why?  Because Abraham’s faith was credited to him as righteousness.

d.  Paul’s critics will immediately reply that Abraham was a Jew; therefore, this blessing and happiness only applies to the Jews.  But Paul will stop them before they ever get started with the continuation of his argument in the verses which follow.
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